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(Correlograme):

DE,FP,FO,PIB:

iPIBiFO;jFP; DE

Date: 05/01/17 Time: 23:04
Sample: 1999 2016
Included observations: 18

Date: 05/01/17 Time: 23:01
Sample: 1999 2016
Included observations: 18

Autocorrelation Partial Correlation PAC Q-Stat Prob

0.783 12.987
0.594 -0.05... 20.921
-0.09. 25.010
-0.00... 27.018
27.720
27.786
27.901
28.791
31.067
34.721
39.964
46.909

0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000
0.000

FO

VCONOUDWNE

A el B=

Autocorrelation Partial Correlation AC PAC Q-Stat Prob
I | | | 1 10.943 0.001
| | ] | | | 2 17.652 0.000
| [E===]] | | | 3 22.228 0.000
| === | | | a 24.890 0.000
| = | | | s 25.793 0.000
I ] | | | | e 25.853 0.000
I : I ‘ I 7 25.979 0.001
I I I 8 26.436 0.001
[ | | | | o 28.103 0.001
[ | | | | 31.176 0.001
[ ] | | | | 36.958 0.000
[ =] | | | | 44.596 0.000

PIB

Date: 05/01/17 Time: 23:07
Sample: 1999 2016
Included observations: 18

Date: 05/01/17 Time: 23:05
Sample: 1999 2016
Included observations: 18

Autocorrelation Partial Correlation AC PAC Q-Stat Prob Autocorrelation Partial Correlation AC PAC Q-Stat Prob
| [ | | [ | 2 9.2407 0.002 | | [ | 12 0.651 0.651 8.9739 0.003
| [ | | | | | =2 13.394 0.001 | | =] | | =2 12.107 0.002
| = | | I | | 3 15.389 0.002 I | =] | | =3 12.640 0.005
| m | | [ | | a 15.935 0.003 I | =] | | a 12.667 0.013
| =] | | | 5] | | s 16.235 0.006 | | g | | s 13.252 0.021
| 5] | | [ =] | | e 16.456 0.012 I | = | | e 13.581 0.035
| s | | | m |7 16.770 0.019 I | m | |7 13.586 0.059
. | | o | | 8 17.976 0.021 I | | | | s 13.675 0.091
[ = | | | =] | | o 21.673 0.010 | | = | o 14.785 0.097
= | | | i | | 24.622 0.006 | [ ] | | -0.26... 14.959 0.134
[ = | | | g | | 28.736 0.002 I | =] | | . 15.227 0.172
. | | | i | | 31.839 0.001 | [ | | . -0.12... 17.991 0.116

De

Fp

Eviews9

%95

ADF
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0.05 ADF :(3-1)
Hypothesis: Null
the variable has a
unit root
At Level
DE| FO FP PIB
With
Constant t-Statistic| -1.4597 8.5236 1.0479 4,1829
Prob. 0.5288 1.0000 0.9949 1.0000
n0 n0 n0 n0
With
Constant &
Trend t-Statistic| -2.0802 2.6413 -0.1938 1.5235
Prob. 0.5195 1.0000 0.9869 0.9999
n0 n0 n0 n0
Without
Constant &
Trend t-Statistic| 0.4410 14.5137| 2.5605 4.8559
Prob. 0.7983 0.9999 0.9952 0.9999
n0 n0 n0 On|
At First]
Difference
d(DE) d(FO) d(FP) d(PIB)
With
Constant t-Statistic| -4.3377 0.3601] -2.4832 -0.6649
Prob. 0.0045 0.033 0.01373 0.0287|
il n0 n0 n0
With
Constant &
Trend t-Statistic| -2.7345 -2.7294 -2.9759 -3.4280
Prob. 0.02411] 0.02391 0.01678 0.00880
n0 n0 n0 *
Without
Constant &
Trend t-Statistic| -4.0534 1.6525| -2.0953 1.3638|
Prob. 0.0005 0.0094 0.0383 0.0473
*kk| no * no
evieWs :
0.05 pro
.0.05

88



Granger

Pro>0.05
Null Hypothesis; Obs| F-Statistic Prob.
DFO does not Granger Cause DPIB| 15 13.9547 0.0013
DPIB does not Granger Cause DFO| 1.88934 0.2014
DFP does not Granger Cause DPIB| 15 3.05945 0.0919
DPIB does not Granger Cause DFP| 0.98954 0.4054
DDE does not Granger Cause DPIB| 15 0.48214 0.0311]
DPIB does not Granger Cause DDE| 0.25855 0.7772

|

|

I

evieWs9

pro<0.

89
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eviews9

-1-1

+ FP*0.000572220034388 + FO*0.00667978027548 =PI1B
331.353888921 + DE*1.01468865366

ADF E:
ADF E - (2-2)
At. level

ECM
Trend and intercept T-statistic -5.1257
prob 0.0052
Intercept T-statistic -4.6167
Prob 0.0030
None T-statistic -4.8014
Prob 0.0001

eviews9 :

pro %5
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1988
1

+ FP*0.000572220034388 +FO *0.0066/7/978027548 =PIB

(0.023) (0.0001)

331.353888921 +DE *1.01468865366

(0.041)

R? = 0975 DW=1.66  Sig(f)=0.0001

-FP *0.000572220034388 -FO *0.00667978027548 -PIB *1 =E
331.353888921 — DE*1.01468865366
12

+ DFP*0.000610120887668 +DFO *0.00565607162812 =DPIB

(0.035) (0.049)

198.570623347 + (1-)E*0.894977357213 -DDE *0.69977434164

(0.0117) (0.029)

R? = 0.655 DW=1.74 Sig=0.0082

E

pro<0.05 a=5%
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fo pib ol -1
%1 %0.00667:
fp pib ‘02 -2
%0.00057:
de pib ‘03 -3
%1.0146:
-1
pro(f) =0.0001<0.05 f
0.975 = 2R
9%97.5 pib
0.0082 %65.6
%5
-2

0.05 %95
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pro (a2) =0.023<0.05 Pro (al) =0.0001<0.05
5pro (a3) =0.041<0.0

.049<0.05=0pro (al) pro (a2) =0.035<0.05 Pro (a3) =0.029<0.05
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41 (1-2)
44 (1-1)
77| -1999 (1-1)
2015
78| 2015-1999 (2-1)
79 2015-1999 (1-2)
30 2015-1999 (2-2)
81 2015-1999 (1-3)
g2 2015-1999 (2-3)
33 2015-1999 (1-1)
85 2015-1999 (2-1)
88 (3-1)
89| PiE (3-1)

DE,FP,FO
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33| 2016 (1-1)

90 ADF -
0.05

92 (2-1)

93 DFA - -







Null Hypothesis: PIB has a
unit root

Exogenous: None

Lag Length: 3 (Automatic - based on
SIC, maxlag=3)

©)

t-Statistic Prob.*

Augmented
Dickey-Fuller test
statistic 4.855864 0.9999
Test
critical 1%
values: level -2.740613
5%
level -1.968430
10%
level -1.604392

Null Hypothesis: PIB has
a unit root

Exogenous:

Constant

Lag Length: 3 (Automatic -
based on SIC, maxlag=3)

)

t-Statistic Prob.*

Null Hypothesis: PIB
has a unit root
Exogenous: Constant,
Linear Trend

Lag Length: 3 (Automatic -
based on SIC, maxlag=3)

@

t-Statistic Prob.*

Augmented
Dickey-Fuller
test statistic ~ 4.182917 1.0000
Test
critical 1%
values: level -4.004425
5%
level -3.098896
10%
level -2.690439

Augmented
Dickey-
Fuller test

statistic 1.523475 0.9999

Test

critical 1% -

\values: level 4.800080
5% -

level 3.791172
10% -

level 3.342253

Null Hypothesis: FO has a
unit root

Exogenous: None

Lag Length: 0 (Automatic - based on
SIC, maxlag=3)

(6)

t-Statistic Prob.*

Augmented
Dickey-Fuller test
statistic 14.51372 0.9999
Test
critical 1%
values: level -2.708094

5%

level -1.962813

10%

level -1.606129

Null Hypothesis: FO has

a unit root

Exogenous: Constant,
Linear Trend

Lag Length: 0 (Automatic -
based on SIC, maxlag=3)

(®)

Null Hypothesis: FO
has a unit root
Exogenous: Constant,
Linear Trend

Lag Length: 0 (Automatic -
based on SIC, maxlag=3)

4

t-Statistic Prob.*

t-Statistic Prob.*

Augmented
Dickey-Fuller
test statistic ~ 2.641253 1.0000
Test
critical 1%
values: level -4.616209
5%
level -3.710482
10%
level -3.297799

Augmented
Dickey-
Fuller test
statistic
Test
critical 1% -
values:level 4.616209
5% -
level 3.710482
10% -
level 3.297799

2.641253 1.0000

Null Hypothesis: FP has a
unit root

Exogenous: Constant, Linear
Trend

Lag Length: 0 (Automatic - based on
SIC, maxlag=3)

9)

Null Hypothesis: FP has

a unit root

Exogenous: Constant,
Linear Trend

Lag Length: 0 (Automatic -
based on SIC, maxlag=3)

8)

Null Hypothesis: FP
has a unit root
Exogenous: Constant,
Linear Trend

Lag Length: 0 (Automatic -
based on SIC, maxlag=3)

(@)

t-Statistic Prob.*

t-Statistic Prob.*

t-Statistic Prob.*

Augmented Augmented

Dickey-Fuller test Dickey-Fuller -

statistic -0.193790 0.9869 | test statistic  0.193790 0.9869
Test 1%  -4.616209 Test 1% -

Augmented
Dickey-
Fuller test -

statistic 0.193790 0.9869




critical level

values:
5%
level -3.710482
10%

level -3.297799

critical level 4.616209
values:
5% -
level 3.710482
10% -
level 3.297799

Test

critical 1% -

values: level 4.616209
5% -
level 3.710482
10% -
level 3.297799

Null Hypothesis: DE has a
unit root

Exogenous: None

Null Hypothesis: DE has
(12) a unit root
Exogenous:

Lag Length: 0 (Automatic - based on Constant

Null Hypothesis: DE

(12) has a unit root (10)

Exogenous: Constant,
Linear Trend

SIC, maxlag=3) Lag Length: O (Automatic - based | Lag Length: O (Automatic -
on SIC, maxlag=3) based on SIC, maxlag=3)
t-Statistic Prob.*
t-Statistic Prob.* t-Statistic Prob.*
Augmented
Dickey-Fuller test Augmented Augmented
statistic 0.441026 0.7983 | Dickey-Fuller - Dickey-Fuller -
Test test statistic 1.459684 0.5288 | test statistic 2.080219 0.5195
critical 1% Test Test
values: level -2.708094 critical 1% - critical 1% -
5% values: level 3.886751 values: level 4.616209
level -1.962813 5% - 5% -
10% level 3.052169 level 3.710482
level -1.606129 10% - 10% -
level 2.666593 level 3.297799
Exogenous: Null Hypothesis: DPIB has Null Hypothesis: DPIB has
None 3) a unit root (2) a unit root (2)
Lag Length: 3 (Automatic - based Exogenous: Exogenous: Constant,
on SIC, maxlag=3) Constant Linear Trend

t-Statistic Prob.*

Lag Length: 0 (Automatic - based
on SIC, maxlag=3)

Lag Length: 2 (Automatic - based
on SIC, maxlag=3)

Augmented

Dickey-Fuller

test statistic 1.363782 0.0473
Test

critical 1%

values: level -2.754993
5%
level -1.970978
10%

level -1.603693

t-Statistic Prob.*

t-Statistic Prob.*

Augmented Augmented

Dickey-Fuller - Dickey-Fuller -

test statistic 0.664853 0.0125 | test statistic 3.427981 0.0080
Test Test

critical 1% -

values: level 3.920350
5% -
level 3.065585
10% -
level 2.673459

critical 1% -

values: level 4.800080
5% -
level 3.791172
10% -
level 3.342253




Null Hypothesis: DFO has

a unit root
Exogenous:
None

(6)

Lag Length: 1 (Automatic - based
on SIC, maxlag=3)

Null Hypothesis: DFO has

a unit root
Exogenous:
Constant

®)

Lag Length: 1 (Automatic - based
on SIC, maxlag=3)

Null Hypothesis: DFO has

a unit root

Exogenous: Constant,

Linear Trend

4

Lag Length: 0 (Automatic - based
on SIC, maxlag=3)

t-Statistic Prob.* t-Statistic Prob.* t-Statistic  Prob.*

Augmented Augmented Augmented
Dickey-Fuller Dickey-Fuller Dickey-Fuller -
test statistic 1.652478 0.014 | test statistic 0.360117 0.033 | test statistic 2.729380 0.02391
Test Test Test
critical 1% critical 1% critical 1% -
values: level -2.728252 values: level -3.959148 values: level 4.667883

5% 5% 5% -

level -1.966270 level -3.081002 level 3.733200

10% 10% 10% -

level -1.605026 level -2.681330 level 3.310349
Null Hypothesis: DFP has Null Hypothesis: DFP has Null Hypothesis: DFP has
a unit root 9) a unit root (8) a unit root )
Exogenous: Exogenous: Exogenous: Constant,
None Constant Linear Trend
Lag Length: 0 (Automatic - based Lag Length: 0 (Automatic - based Lag Length: 0 (Automatic - based
on SIC, maxlag=3) on SIC, maxlag=3) on SIC, maxlag=3)

t-Statistic Prob.* t-Statistic Prob.* t-Statistic Prob.*

Augmented Augmented Augmented
Dickey-Fuller - Dickey-Fuller - Dickey-Fuller -
test statistic 2.095291 0.0383 | test statistic 2.483165 0.01373 | test statistic 2.975911 0.01678
Test Test Test
critical 1% - critical 1% - critical 1% -
values: level 2.717511 values: level 3.920350 values: level 4.667883

5% - 5% - 5% -

level 1.964418 level 3.065585 level 3.733200

10% - 10% - 10% -

level 1.605603 level 2.673459 level 3.310349
Null Hypothesis: DDE has Null Hypothesis: DDE has Null Hypothesis: DDE has
a unit root (12) a unit root (11) a unit root (10)
Exogenous: Exogenous: Exogenous: Constant,
None Constant Linear Trend

Lag Length: 0 (Automatic - based
on SIC, maxlag=3)

Lag Length: 0 (Automatic - based
on SIC, maxlag=3)

Lag Length: 3 (Automatic - based
on SIC, maxlag=3)

t-Statistic Prob.* t-Statistic Prob.* t-Statistic Prob.*

Augmented Augmented Augmented
Dickey-Fuller - Dickey-Fuller - Dickey-Fuller -
test statistic 4.053398 0.0005 | test statistic 4.337733 0.0045 | test statistic 2.734530 0.02411
Test Test Test
critical 1% - critical 1% - critical 1% -
values: level 2.717511 values: level 3.920350 values: level 4.886426

5% - 5% - 5% -

level 1.964418 level 3.065585 level 3.828975

10% - 10% - 10% -




level

1.605603 level 2.673459

level 3.362984

Null Hypothesis: E has a unit root
Exogenous: Constant, Linear Trend
Lag Length: 2 (Automatic - based on SIC, maxlag=3)

t-Statistic Prob.*
Augmented Dickey-Fuller test statistic -5.125761 0.0052
Test critical values: 1% level -4.728363
5% level -3.759743
10% level -3.324976
Null Hypothesis: E has a unit root
Exogenous: Constant
Lag Length: 2 (Automatic - based on SIC, maxlag=3)
t-Statistic Prob.*
Augmented Dickey-Fuller test statistic -4.616725 0.0030
Test critical values: 1% level -3.959148
5% level -3.081002
10% level -2.681330
Null Hypothesis: E has a unit root
Exogenous: None
Lag Length: 2 (Automatic - based on SIC, maxlag=3)
t-Statistic Prob.*
Augmented Dickey-Fuller test statistic -4.801444 0.0001
Test critical values: 1% level -2.728252
5% level -1.966270
10% level -1.605026
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ieviews

summary:.

Taxes contribute to the provision of income to cover all the needs of the State. It is affected by
the rate of economic growth through an increase in its revenues, the organization of the
economy and the achievement of social balance.

Taxation has a special place in determining economic conditions and working to achieve a
positive and sustainable growth rate. It is directly affected by both investment and incentives,
which are an effective tool in increasing the economy of the country.

All of this information is derived from the results obtained from the treatment of this subject,
and this is through the effect of taxes on the series using the system of eviews, namely the
collection of regular and petroleum as well as foreign direct investment. These factors affect
economic growth either directly or indirectly, To control the tax revenues and know how to
manage them in order to raise the rate of economic growth, especially the status of Algerian
economy in general and find alternative to it to reach the primary goal.



